ma-feasible?22

Feasible(M)

=get Vz€dom(lof(M)). T=1of(M)(z) = T
& Vkedom(lof(20f(M))). T=10f(20f(M))(k) = Dec(T)
& Vaedom(1of(20f(20f(20f(M))))).

p=1of(20f(20f(20f(M))))(a) =

Vs:State(1lof(M)). Dec(Ju:1of(20f(M))(locl(a))?Top. p(s,v))
& Vrzedom(lof(M)). T=1of(M)(z) = AtomFree(Type;T")
& Vkedom(lof(20f(M))). T=1of(20f(M))(k) = AtomFree(Type;T)
& ma-frame-compat (M ;M)

clarification:

ma-feasible{i:1}
(1)
=qet Ipf-all(Id; IdDeq; lof(M); x,T.T)
& fpf-all(Knd; KindDeq; 1of(20f(M)); k,T.Dec(T))
& fpt-all(1d;
IdDeq;
lof(20f(20f(20f(M))));
a,p.(Vs:State(lof(M)).
Dec(Fv:fpt-cap(lof(20f(M));KindDeg;locl(a);Top). p(s,v))))
& fpf-all(Id; IdDeq; lof(M); x,T.AtomFree(Type;;T))
& fpf-all(Knd; KindDeq; 1of(20f(M)); k,T.AtomFree(Type;;T'))
& ma-frame-compat (M ;M)
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